(F)roraa-ly —=lo=F |

&sf_ ~Gyx = ‘L -G4X <o

& . ,
(G5) = o leax = yFdav-sloe = =20 Gy
n
¢
a M\( \f_?l —_— )(,4\:‘;_@24(\<

CEL’au“?% (}—L‘%,‘\\-@) : fw@);\ '6)
\a"bog ﬁ H%Y >0 N w n Vo
— <x < \(-tLu
Q%lto G x \_\ N < A
_ M L
O < X 4{7 i 3’_:\? < X< 237 (MAD) N

‘93 b f\ " )
Fo) =¥ calos X =S g X+ 260X Sinx I R s

a”:o = 2-0 (42 X
& = Gf2X = doly g —>\ =]

H"t -k CGpax<o I N

G/{}szi- — 2% = i— + Ak

Y=t“+ﬁk

G
»[\ N
C= 9 1) A
It )
\d So — a—éogzx > o Y
2 >MZ¥
\ |
B‘Cwa <> (gox —
N - ) —\
—f < AX Zau-= g TR < AX < S
e v o <X =%
% <V<‘% fe %%X<§: ule pinry
mi‘\ _l_\L Nﬁa? )
Faxe d (Fhan) N

http://heshbonia.com/ 7 nninw nridrn 2



heshbonia.com



